=3 X N fr 3=

10 s R A S S5&EDITH: 9 HDCPLR: 36
M fr] K 4 GROS|HDCP |N E T| Wi | It % GROS |[HDCP|N E T
19 | bt 46 41 | 87 [16.8| 70.2| 29{f|mmu 54 51 [105 |27.6] 77.4
2 fi| g 417 40 | 87 [15.6| T1.4( 3 o0f|i&w 46 47 | 93 |15.8| 77.4
3 fir | sy 40 41%] 80 || 8. T2.6| 3 1fi|sekt 48 48 | 96 ([18.0| 78.0
44| A 45 47¢) 92 |19, 12.8| 32ffiuk 50 56 |[106 |27.6| 78.4
RV R S 46 51 | 97 |24.0| 73.0| 334i|JkL: 49 44 | 93 [14.4| 78.6
6 i | ity 46 44 | 90 [16.8| 73.2| 34dr|kM 54 504[104 |25.2| 78.8
74| fidk 50 44 | 94 [20.4) 73.6| 3 64| 55 §6 (110 |31.2] 78.8
8{i| 4 IF 45 43¢ 88 |14.4| 73.6| 36{|HMnD 50 47 | 97 |18.0( 79.0
9 {ic | Jn4m 49 48 | 97 (22.8| T4.2| 3 74r|#BIE 41 44 | 91 [12.0] 79.0
1 04| v 39 40 | 794 4.8| 74.2| 38{I|IE a7 42 | 89 | 9.6/ 79.4
1 14| pm 52 50 (102 [27.6| T4.4| 3 9{L |40 53 54 [107 |27.6] 79.4
1 24| K 44 45 | 89 |14.4| T4.6| 4 0f|iEk 54 58 [112 |32.4| 79.6
1 34 [JF 1 45 49 | 94 [19.2| T4.8| 41{r|® 45 54¢| 99 |19.2] 79.8
ki 48 46 | 94 [19.2| 74.8| 4 24| 63 53 (116 |36.0| 80.0
1 5 i | Wik 51 48 | 99 |24. 15.0( 4 34| nitk 417 60#|107 |26.4| 80.6
1 64 | Gdin 16 47¢| 93 [18.0| 75.0| 44|k 53 53 |106 |25.2| 80.8
1 7 fir | it 47 52 | 99 |24, 16.0| 4 54|tk 52 51 (103 |21.6| 81.4
1 B4 |14k 50 51 |101 [25.2) T5.8| 4 64| 46 §1 | 97 |15.6/| 81.4
1 9| p§mt 48 47+ 95 [19.2| T5.8| 474 |Wm 52 54 (106 |24.0] 82.0
2 0| iE)F 18 44%| 82 | B.0| 76.0| 48{|3iJk 54 524|106 |24.0]| 82.0
2 14 [Hay 46 48% | 94 [18.0| 76.0| 4 9fr|&Hm 64 47 111 [28.8] 82.2
2 24 | iUk 44 43 | 8T |10, 16.2| S50f| S 57 534|110 [27.6| 82.4
2 3| #E 49 49 | 98 |21 16.4| 6 14 |iliH 56 S4¢|110 |27.6| 82.4
2 44 | Wik 45 46 | 91 [14.4)| 76.6| 5240|RI 59 60¢ (119 |36.0] 83.0
2 54| ¥kt 42 43 | 85 | B.4| T6.6| 53f| iy 49 53 [0a8 1285 B1g
2 64| W 46 44 | 90 [13.2| 76.8| S54fc|#F 55 51 (106 |22.8| 83.2
2 74 [ 1lnp 53 47 |100 [22.8| 77.2| SS5{|AR 54 53 |to1 |22.8| B4.2
2 847| L 56 50 |106 [28.8| 77.2| 5 6fu|mn 55 49 |104 |19.2] 84.8




